
A4160..  A4161..  A4167..     

CeraPlus

CeraPlus

 1	 Spout complete	 A 962 086 AA	 1 pcs
 2	 Aerator M24x1 complete	 B 960 457 AA	 1 pcs
 3	 Thread pin M5 x 6 DIN914	 A 963 667 NU	 1 pcs
 4	 Nipple M16 x 1,5 complete	 A 962 096 NU	 1 pcs
 5	 Escutcheon Spout	 A 962 097 AA	 1 pcs

 6	 Fixation-Set Universal	 A 960 401 NU	 1 Set
 7	 Flex. hose M10x1-G3/8	 A 963 305 NU	 1 pcs
 8	 Escutcheon Sensor	 A 962 098 AA	 1 pcs
 9	 Sensor complete 	 A 960 219 NU	 1 pcs
10	 Sensor fixation (tin+screws)	 A 960 342 NU	 1 pcs

Produced from:  Oct. 2021 

		  Part-
Pos.	 Description	 Number	   Qty.

		  Part-
Pos.	 Description	 Number	   Qty.

Wall mounted Spout Electronic 166mm
complete with sensor
chrome                                    A4160AA

Wall mounted Spout Electronic 246mm
complete with sensor
chrome                                    A4161AA

Wall mounted Electronic 
Sensor w/o spout
chrome                                    A4167AA

C
er

aP
lu

s

Ø55

Ø30

Ø25

Ø55

166
246

23

23

max.35

max.35

150 
230

750

min.350

G3/8

( A4161 )
( A4160 )

( A4161 )
( A4160 )

X

X

1

3

4

9

10

8

7

6

5

2



A4160..  A4161..  A4167..     

CeraPlus

CeraPlus

 1	 Spout complete	 A 962 086 AA	 1 pcs
 2	 Aerator M24x1 complete	 B 960 457 AA	 1 pcs
 3	 Aerator key
 4	 O - Ring  Ø 20,35 x 1,78	 A 961 798 NU	 1 Set
 5	 Thread pin M5 x 6 DIN914	 A 963 667 NU	 1 pcs
 6	 Extension f. A4160AA -   97mm lg.
 
 7	 Extension f. A4161AA - 177mm lg.
 8	 Nipple M16 x 1,5 complete	 A 962 096 NU	 1 pcs
 9	 Escutcheon Spout	 A 962 097 AA	 1 pcs
10	 O - Ring  Ø 44 x 2	 A 961 338 NU	 2 pcs
11	 Stud M8 x 77

12	 Fixation-Set Universal	 A 960 401 NU	 1 Set
13	 Flex. hose M10x1-G3/8	 A 963 305 NU	 1 pcs
14	 Escutcheon Sensor	 A 962 098 AA	 1 pcs
15	 O - Ring  Ø 15,6 x 1,78	 A 961 182 NU	 2 pcs
16	 Sensor complete + Pos.15	 A 960 219 NU	 1 pcs
17	 Sensor fixation (tin+screws)	 A 960 342 NU	 1 pcs

18	 Cylindrical screw M3 x 6  DIN 85

Produced from:  Febr. 2008 - Oct. 2021 

		  Part-
Pos.	 Description	 Number	   Qty.

		  Part-
Pos.	 Description	 Number	   Qty.

Wall mounted Spout Electronic 166mm
complete with sensor
chrome                                    A4160AA

Wall mounted Spout Electronic 246mm
complete with sensor
chrome                                    A4161AA

Wall mounted Electronic 
Sensor w/o spout
chrome                                    A4167AA

C
er

aP
lu

s

Ø55

Ø30

Ø25

Ø55

166
246

23

23

max.35

max.35

150 
230

750

min.350

G3/8

( A4161 )
( A4160 )

( A4161 )
( A4160 )

X

X

1

3

4

4

5

6

8

10

11

10

15

16

1718

14

13

12

9

7

2

2a


